
1) 374/9 x 1312/19

Answer: ____________

2)
39  Find Volume of 
                         Hexagonal Pyramid 

38
38

Answer: ____________

3) Find area of triangle 
s = 2058 in

Answer: ____________

4) 26% of 450

Answer: ____________

5) 1/59 of 295

Answer: ____________

6) An amount was decreased by 8.3% to 
$466.04. Find the original amount.

Answer: ____________

7) 3813/18 ÷ 82/3

Answer: ____________

8) Find area of square 
having each side (s)
equals 5404 in

Answer: ____________

9) 'What is the probability of rolling a 
multiple of 3.when rolling a dice

Answer: ____________

10) Find area of square 
having each side (s)
equals 3961 ft

Answer: ____________

11) Find area of square 
having each side (s)
equals 3961 ft

Answer: ____________

12) 09:44 am To 07:14 pm

Answer: ____________

13) Write 0.2 in standard form.

Answer: ____________

14) Convert the following improper 
fraction 2710/19 + 331/2 into a mixed 
number

Answer: ____________

15) Decrease 157 by 21%

Answer: ____________
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16) 6836.4 + 5428.7

Answer: ____________

17)

A B = 51
Find the Angle at side A.

Answer: ____________

18) 218/20 ÷ 193/10

Answer: ____________

19) Decrease 320 by 63%

Answer: ____________

20) 2049 + 5143

Answer: ____________

21) 4165 x 7699

Answer: ____________

22) 38/
18 ÷ 4/13

Answer: ____________

23) Increase 479 by 69%

Answer: ____________

24) (3 x 59) + (10 x 44)

Answer: ____________

25) 32/18 x 16/18

Answer: ____________

26) (s-8)3

Answer: ____________

27) (-988) ÷ 38

Answer: ____________

28) (-988) ÷ 38

Answer: ____________

29) 1311 + 5294

Answer: ____________

30) An amount was increased by 1% to 
$336.10. Find the original amount.

Answer: ____________
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31) (-7689) - 8335

Answer: ____________

32) $101.96 earning 6.8% compound 
interest for 3 years.

Answer: ____________

33) 11/12 x 17/12

Answer: ____________

34) 2496 ÷ 52

Answer: ____________

35)
40  Find Volume of 
               38       Cylinder 

Answer: ____________

36) 07:33 am To 02:40 pm

Answer: ____________

37) 64.7 x 98.4

Answer: ____________

38)
Find the next three numbers in 
the sequence
57,48,72,63,87,78,102__,__,__

Answer: ____________

39)
Find the next three numbers in 
the sequence
57,48,72,63,87,78,102__,__,__

Answer: ____________

40) A number is chosen at random from 
1 to 75. Find the probability of 
selecting odd number.

Answer: ____________

41) 75 x 100

Answer: ____________

42) 3/16 - 1/13

Answer: ____________

43) 88 x 10

Answer: ____________

44) 1287.2 + 8613.7

Answer: ____________

45) Find perimeter of 
square having each 
side (s) equals 3863 cm

Answer: ____________
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46) 1190 ÷ 175

Answer: ____________

47) Find perimeter of 
triangle
a = 4343 ft, b = 
8904 ft,
c = 9198ft

Answer: ____________

48) 'What is the probability of rolling a 
multiple of 4.when rolling a dice

Answer: ____________

49) 282/7 x 1210/11

Answer: ____________

50) 68 x 35

Answer: ____________

51) $254.58 earning 6% compound 
interest for 8 years.

Answer: ____________

52) Round 4.4438 to 3 significant figures.

Answer: ____________

53) 'What is the probability of rolling a 
multiple of 1.when rolling a dice

Answer: ____________

54) 'What is the probability of rolling a 
multiple of 1.when rolling a dice

Answer: ____________

55) (4 x 79) / (2 x 4-8)

Answer: ____________

56) 7415.2 + 8391.8

Answer: ____________

57) Find the mean of the following set of data:

0.1, 0.1, 0.5, 0.8, 83, 59, 0.8

Answer: ____________

58) 5832.8 - 5669.9

Answer: ____________

59) 8 + 10 x (14 ÷ 5)

Answer: ____________

60) Find area of 
rectangle having 
sides a = 7991 m 
and b = 3841 m

Answer: ____________
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61) (10 x 18) / (7 x 7-9)

Answer: ____________

62) Decrease 232 by 1/58

Answer: ____________

63) 1/53 of 106

Answer: ____________

64) Simplify 63:45

Answer: ____________

65) 2753.2 + 3432

Answer: ____________

66) 42% of 300

Answer: ____________

67) 3477 x 7323

Answer: ____________

68) Round 18.91 to the nearest 10

Answer: ____________

69) Increase 256 by 5/128

Answer: ____________

70) Increase 222 by 5/111

Answer: ____________

71) (4 x 34) x (1 x 64)

Answer: ____________

72) 1000 ÷ (-50)

Answer: ____________

73) Find area of square 
having each side (s)
equals 6995 in

Answer: ____________

74) Find the mode of the following set of data:

188, 188, 80, 80, 80, 80, 10, 10, 
105, 105

Answer: ____________

75) 34% of 244

Answer: ____________
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76) Factorise j2 + 10j + 16

Answer: ____________

77) 1892 ÷ 43

Answer: ____________

78) Round 17.57 to the nearest 100

Answer: ____________

79) A number is chosen at random from 
1 to 75. Find the probability of 
selecting even number.

Answer: ____________

80) f4 * f-8

Answer: ____________

81) Find the mean of the following set of data:

0, 0.9, 1, 64, 0.3

Answer: ____________

82) Find the mean of the following set of data:

0, 0.9, 1, 64, 0.3

Answer: ____________

83) What would you multiply by to 
decrease an amount by 42%?

Answer: ____________

84) 8676 x 5548

Answer: ____________

85) 27/6 + 5/7

Answer: ____________

86) 2289 - (-7889)

Answer: ____________

87) Find perimeter of 
square having each 
side (s) equals 9590 in

Answer: ____________

88) 29   14/16 - 18   1/2

Answer: ____________

89) A number is chosen at random from 
1 to 75. Find the probability of 
selecting factors of 17 and 18.

Answer: ____________

90) 14/4 + 3/3

Answer: ____________
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91)

A B = 58
Find the Angle at side A.

Answer: ____________

92)

A B = 58
Find the Angle at side A.

Answer: ____________

93) 40000 ÷ 1000

Answer: ____________

94) 8861.2 - 1432.5

Answer: ____________

95) 6316 + 6278

Answer: ____________

96) Round 6.57384220981 to the nearest 
whole number.

Answer: ____________

97) Share 50 in the ratio 19:6

Answer: ____________

98) Find the mode of the following set of data:

138, 138, 138, 138, 138, 138, 68, 
68, 68, 68, 112, 112, 112, 112, 112, 
82, 82, 82, 82

Answer: ____________

99) A number is chosen at random from 
1 to 75. Find the probability of 
selecting factors of 18.

Answer: ____________

100) Find area of square 
having each side (s)
equals 6648 cm

Answer: ____________

Total: ___ / 100
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Answers:

1) 51073/171 2) 48771.086639524 3) 1833966.409137in 4) 117 5) 5 6) $427.36 7) 473/156

8) 29203216in 9) 1/3 10) 15689521ft 11) 15689521ft
12) 09 Hours 30 
Mins

13) 2 x 10-1 14) 611/38

15) 124.03 16) 12265.1 17) 129 18) 121/193 19) 118.4 20) 7192 21) 32066335

22) 631/36 23) 809.51 24) 5861935 25) 147/81 26) s-24 27) -26 28) -26

29) 6605 30) $332.77 31) -16024 32) $124.21 33) 143/144 34) 48 35) 45364.597917837

36) 07 Hours 07 
Mins

37) 6366.48 38) 93,117,108, 39) 93,117,108, 40) 37/75 41) 7500 42) 23/208

43) 880 44) 9900.9 45) 15452cm 46) 6.8 47) 22445ft 48) 1/6 49) 3651/7

50) 2380 51) $405.76 52) 4.44 53) 1/1 54) 1/1 55) 5289227976704 56) 15807

57) 20.61 58) 162.9 59) 60) 30693431m 61) 57648010 62) 228 63) 2

64) 7 : 5 65) 6185.2 66) 126 67) 25462071 68) 18.9 69) 266 70) 232

71) 419904 72) -20 73) 48930025in 74) 80 75) 82.96 76) (j + 2)(j + 8) 77) 44

78) 17.57 79) 37/75 80) f-4 81) 13.24 82) 13.24 83) 0.58 84) 48134448

85) 53/14 86) 10178 87) 38360in 88) 113/8 89) 0/1 90) 41/2 91) 122

92) 122 93) 40 94) 7428.7 95) 12594 96) 7 97) 2 : 48 98) 138

99) 0/1 100) 44195904cm
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